



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right) - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right) - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} = \frac{25}{54}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) = \frac{5}{8}$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} = \frac{13}{36}$$

$$\left(-\frac{1}{6}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{6} = \left(-\frac{37}{216}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{327}{320}\right) = \left(-1\frac{7}{320}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \frac{3}{4} = \left(-\frac{483}{500}\right)$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{2}\right) = \frac{3}{10}$$

$$\left(\frac{1}{3}\right) - \frac{1}{3} = 0$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{5}{64}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{74}{125}\right)$$

$$\left(\frac{1}{5}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{2}{5}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) = \frac{35}{216}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) = \frac{1}{12}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(\frac{1}{6}\right) - \frac{3}{5} = \left(-\frac{13}{30}\right)$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{10}{27}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} = \frac{122}{375}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$